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. @ Ratios and Rates ”

solving a variety of word problems that involve ratios and rates

0 Math Skills
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Basic Problem-solving Questions

@ Problem Solving

oy Thist
s

In Lucy’s collection, there are 5 red marbles for every 3 blue marbles.
If Lucy has 20 red marbles, how many blue marbles does she have?

Solution:
m Find the equivalent ratio of “red” to “blue”.
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A
m Write a concluding sentence. To find an equivalent ratio,
multiply or divide both
Lucy has blue marbles. sides of the ratio by the
same number.

@® Refer to the question above.

a. If Lucy has 30 red marbles, how many blue marbles does she have?

Lucy has blue marbles.

b. If Lucy has 15 blue marbles, how many red marbles does she have?

Lucy has red marbles.
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A sign is made by aftaching the base of a triangle to a square. The ratio
of the square’s side length to the triangle’s height is 3:2. The height of the
triangle is 60 cm. What is the area of the sign?
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The area of the sign is

Philip wants to raise the platform by a height of A, To do so, he needs
7.2 m? of concrete. How much higher will the platform be? What will the
new height be? Write an equation and solve it.

1.8m

At a sandwich shop, Trevor can choose 1 type of bread and 1 topping.
What is the probability that he buys a sandwich that costs $5 or less?

Topics covered:

Question 1 Question 2 Question 3
® ratios ® volume e decimals
® area ® equations ® probability
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Unit 5

In a series of tfriangles, the changes of two Q
of the angles in each ftriangle follow a
pattern. What are the angles of Triangle E? 108° 16°
Name it by ifs sides and angles.
(B

Eric plants trees in the corners of his garden at (1.,5), (3.1), (6,1), and (4,5).
What is the area of Eric’s garden?
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Topics covered:
Question 4 Question 5
® angles ® decimals
e triangles ® area
e patterning ¢ (artesian coordinate plane
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